The Original Class Plan:

a L/4 of the garden will be planted with carrots.
1/6 of the garden will be planted with potatoes.
1/8 of the garden will be planted with broccoli.
> 1/12 of the garden will be planted with corn.
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1) Draw rectangles on the model of the garden below to represent the four rectangular
“sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.

Each square on the model represents 1 square foot.

You must label each rectangular section with the name of the vegetable that will be
planted there.
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2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion ot the garden
plot.

3A)
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.

3B) How many total square feet of the class garden plot will be planted with potatoes?
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Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the

class's garden.
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The Original Class Plan: _
> 1/4 of the garden will be planted with carrots.
> 1/6 of the garden will be planted with potatoes.
> 1/8 of the garden will be planted with broccoli.
o 1/12 of the garden will be planted with corn.

1) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.

Each square on the model represents 1 square foot.

You must label each rectangular section with the name of the vegetable that will be
planted there.
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2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion ot the garden
plot. ,_

34)
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.

3B) How many total square feet of the class garden plot will be planted with potatoes?

5"/5

Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the

class's garden.
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The Original Class Plan:

> 1/4 of the garden will be planted with carrots.
o 1/6 of the garden will be planted with potatoes.
> 1/8 of the garden will be planted with broccoli.
o 1/12 of the garden will be planted with corn.

[) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.

Each square on the model represents 1 square foot. |

You must label each rectangular section with the name of the vegetable that will be
planted there. '

S IR o 1 L S

T

S T
SRR NP (N

-
1
-

AN W
P

2) Think about the class plan for the garden plot.

\What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot.

34)
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.

3B) How many total square feet of the class garden plot will be planted with potatoes?
00 £

Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the
class's garden. -
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1/4 of the garden will be planted with carrots.
o 1/6 of the garden will be planted with potatoes.
%—x~3 % o 1/8 of the garden will be planted with broccoli.
Lx2 > > 1/12 of the garden will be planted with corn.

The Original Class Plan
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D Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths. ;

Each square on the model represents 1 square foot.

You must label each rectangular section with the name of the vegetable that will be

planted there.

i SRS

k
P
~ -
|
!

e

POV o

e PR S SN i
: . I D i .
N I oo 1R S i
:: : (o i 0 M io# A
3 :; ;5; S H i (A . H
e - ca o v it it sn g s st v o v B vt e ¢
g [ f By (. LA !

2) Think about the class plan for the garden plot. ‘
What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot.

34)
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.

L R W - ol
) £Y6 "3 3°L 53

3B) How many total square feet of the class garden plot will be planted with potatoes?
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Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the
class's garden.
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The Original Class Plan:
L WRERQRCS \Q 5 1/4 of the garden will be planted with carrots,. CQ Y-
QV/\/ ﬁ\}?a 1/6 of the garden will be planted with potatoes. - 7
\ \@m@ S8 o 1/8 of the garden will be planted with broccoli. (S0 6
}—- e \/ﬁ : ’ :
O &~y >~ o l/12of the garden will be planted with corn. GO
k T 2, = N |
?:/ﬁ-* * 1) Draw rectangles on the model of the garden below to represent the four rectangular
\  sections for planting vegetables according to the class plan.
7). The garden model is divided into 5 by 5 feet sections @
" d&; Use whole number side lengths. '
‘4&( ~ Each square on the model represents 1 square foot.
~  You must label each rectangular section with the name of the vegetable that will be

planted there.
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2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion ot the garden
plot. '

3A) | .
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden plot will be planted with potatoes?
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Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the
class's garden. :




The Original Class Plan:

> 1/4 of the garden will be planted with carrots.
> 1/6 of the garden will be planted with potatoes.
o 1/8 of the garden will be planted with broccoli.
o 1/12 of the garden will be planted with corn.

[) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections ‘

Use whole number side lengths. 1106

Each square on the model represents 1 square foot.

You must label each rectangular section with the name of the vegetable that will be
planted there.

A

2) Fhink about the class plan for the garden plot o
What fraction of the garden plot will be left over after the class plants their vegetables”
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot.

3A4)
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden plot will be planted with potatoes?

Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in Squaré feet, of each section equals the total area of the

class's garden. o "
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The Original Class Plan:

> 1/4 of the garden will be planted with carrots.
> 1/6 of the garden will be planted with potatoes.
> 1/8 of the garden will be planted with broccoli.
o 1/12 of the garden will be planted with corn.

1) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.

Each square on the model represents 1 square foot.

You must label each rectangular section with the name of the vegetable that will be
planted there. :
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot.

3A4)
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden plot will be planted with potatoes?

)
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Using the new plan with more potatb,es, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the
class's garden.
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The Original Class Plan: /Of o

> 1/4 of the garden will be planted with carrots.
> 1/6 of the garden will be planted with potatoes.
> 1/8 of the garden will be planted with broccoli.
o 1/12 of the garden will be planted with corn.

1) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.
The garden model is divided into 5 by 5 feet sections
- Use whole number side lengths. |
Each square on the model represents 1 square foot. :

You must label each rectangular section with the name of the vegetable that will be
planted there.
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2) Think about the class plan for the garden plot. .
What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot.

3A4)
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden p‘fggt&will be Sfaﬁﬁted with potatoes?
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Using the new plan with more potatoes, write an équation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the
class's garden. . : |
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The Original Class Plan: o .
| "< 5. 1/4 of the garden will be planted with carrots.

> 1/6 of the garden will be planted with potatoes.
> 1/8 of the garden will be planted with broccoli.
Ll -5~ 1/12 of the garden will be planted with corn.
1) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan. :
The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.

Each square on the model represents 1 équare foot.
You must label each rectangular section with the name of the vegetable that will be

planted there.
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2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants their vegetables?




Now your class has decided to plant extra potatoes in the unused portion ot the garden
plot.

3A) |
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden plot will be planted with potatoes?
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Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the
class's garden.
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" The Original Class Plan: , ‘ 3
| 1/4 of the garden will be planted with carrots.

] 1/6 of the garden will be planted with potatoes.
1/8 of the garden will be planted with broccoli.

0 - 1/12 of the garden will be planted with corn.

1) Draw rectangles on the model of the garden below to represent the four rectangular

sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.
Each square on the model represents 1 square foot.
You must label each tg_g_:tangular section with the name of the vegetable that will be

_ planted there.

2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion of the gardeﬁ‘-\_\
plot. ~. )

N\

34)

What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden plot will be planted with potatoes?
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Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the

class's garden.
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The Original Class Plan: _
2y 1/4 of the garden will be planted with carrots.
760 =° 1/6 of the garden will be planted with potatoes.
= 1/8 of the garden will be planted with broccoli.
%‘Wf 1/12 of the garden will be planted with corn. |
1) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.
The garden model is divided into 5 by 5 feet sections
- Use whole number side lengths.
Each square on the model represents 1 square foot.
You must label each rectangular section with the name of the vegetable that will be

lanted there.
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2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants thelr vegetables?
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot.

- 34) |

What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden plot will slanted with potatees?
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Using the new plan with more potatoes, write an equation to shaw that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the
class's garden. . -
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The Original Class Plan:
> 1/4 of the garden will be planted with carrots.
> 1/6 of the garden will be planted with potatoes.
> 1/8 of the garden will be planted with broccoli.
> 1/12 of the garden will be planted with corn.

1) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.

Each square on the model represents 1 square foot.

You must label each rectangular section with the name of the vegetable that will be
planted there. -
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2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot.

3A4)
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.

O &88 L0000
RE

- WWKOLL0= W0
=D HESYIS s A

@33) How many total square feet of the class garden plot will be planted with potatoes?
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Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the
class's garden.
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The Original Class Plan: |

> 1/4 of the garden will be planted with carrots.
o 1/6 of the garden will be planted with potatoes.
> 1/8 of the garden will be planted with broccoli.
o 1/12 of the garden will be planted with corn.

|) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.

Each square on the model represents 1 square foot.

You must label each rectangular section with the name of the vegetable that will be
planted there.
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2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot. |

3A) |
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.

%

3B) How many total square feet of the class garden plot will be planted with potatoes?
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Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the
class's garden. | . . |
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The Original Class Plan: _ ‘
1/4)of the garden will be planted with carrots.

2 ,1-#6—0‘[' the garden will be planted with potatoes.
» (L& of the garden will be planted with broccoli.
» of the garden will be planted with corn.

1) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.

Ea _
You must label each rectangular section with the name of the vegetable that will be

planted there.
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2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot.

34)
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden plot will be planted with potatoes?
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Using the new plan with more potatoes, write an equation to show that the total area ot
the class's garden is used to grow vegetables. Make sure the equation shows that
the sum of the areas, in square feet, of each section equals the total area of the
class's garden.
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The Original Class Plan: -
> 1/4 of the garden will be planted with carrots.
> 1/6 of the garden will be planted with potatoes.
> 1/8 of the garden will be planted with broccoli.
> 1/12 of the garden will be planted with corn.

1) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.
The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.
Each square on the model represents 1 square foot.
You must label each rectangular section with the name of the vegetable that will be

planted there. :
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2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot.

34)
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden plot will be planted with potatoes? -
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Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the

class's garden. -
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40 5 1/4 of the garden will be planted with carrots.
100 o> 1/6 of the garden will be planted with potatoes.
905 1/8 of the garden will be planted with broccoli.
o 1/12 of the garden will be planted with corn.

The Original Class Plan:

1) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables accordlng to the class plan. :

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths. -

Each square on the model represents 1 square foot.

You must label each rectangular section with the name of the vegetable that w1ll be
planted there. ' y 200

: e .
. % H ? = : { o
SR DD . s e e 2 TR B DG S e em s g I P |
; ; t

—— i

2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants their vegetables?
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot. : : y

34) . ' | -
What total fraction of the class garden will be planted with potatoes? -
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class_g-ar_den plot will be planted with 'p_otatOes?

" Using the new plan with more potatoes, write an equation to show that the total area of

the class's garden is used to grow vegetables. Make sure the equation shows that.
the 'sum of the areas, in square feet, o_f each section equals the total area of the
class's garden. - ' : ’
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The Original Class Plan: ' '
> 1/4 of the garden will be planted with carrots.
> 1/6 of the garden will be planted with potatoes.
> 1/8 of the garden will be planted with broccoli.
> 1/12 of the garden will be planted with corn.

1) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.

Each square on the model represents 1 square foot.

You must label each rectangular section with the name of the vegetable that will be
planted there. ‘

LO

C‘D\W(B |

2) Think about the class plan for the garden plot.
What fraction of the garden plot will be left over after the class plants their vegetables?

34




Now your class has decided to plant extra potatoes in the unused portion of the garden
plot. ‘

34) |
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden plot will be planted with potatoes?
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Using the new plan with more potatoes, write an equation to show that the total varea'of
the class's garden is used to grow vegetables. Make sure the equation shows that |

the sum of the areas, in square feet, of each section equals the total area of the
class's garden.

PRI =

A\




CAa-
The Original Class Plan: -

5 1/4 of the garden will be planted with carrots.
> 1/6 of the garden will be planted with potatoes.
, 1/8 of the garden will be planted with broccoli.
> 1/12 of the garden will be planted with corn.

1) Draw rectangles on the model of the garden below to represent the four rectangular
sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths. |

Each square on the model represents 1 square foot. :

You must label each rectangular section with the name of the vegetable that w1ll be

planted there.

2) Thmk E the class plan for the garden plot. _
of the garden plot will be left over after the class plants their vegetables"
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Now your class has decided to plant extra potatoes in the unused portion of the garden
plot.

3A4) '
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden plot will be planted with potatoes?
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Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the

class's garden. '
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A2
The Originél Class Plan:

> 1/4 of the garden will be planteéd with carrots.
» 1/6 of the garden will be planted with potatoes.
> 1/8 of the garden will be planted with broccoli.
> 1/12 of the garden will be planted with corn.

1) Draw rectangles on the model of the garden below to represent the four rectangular -

- sections for planting vegetables according to the class plan.

The garden model is divided into 5 by 5 feet sections

Use whole number side lengths.

Each square on the model represents 1 square foot.

You must label each rectangular section with the name of the vegetable that will be
planted there. ~
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2) Think about the class plan for the garden plot. :
‘What fraction of the garden plot will be left over after the class plants their vegetables"
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Now your class has decided to plant extra potatoes in the unused portion ot the garden
plot. _

34) . |
What total fraction of the class garden will be planted with potatoes?
Remember that 1/6 of the garden is already planned for potatoes.
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3B) How many total square feet of the class garden plot will be planted with potatoes?
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Using the new plan with more potatoes, write an equation to show that the total area of
the class's garden is used to grow vegetables. Make sure the equation shows that

the sum of the areas, in square feet, of each section equals the total area of the
class's garden. '
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